




T20P
(Question Practice)



S, L, T, O, E, F, G and H are sitting in a 
straight line facing north. L is sitting 
fourth to the left of F. F's position is 
either at sixth position from left or 
fourth position from right in the line. T 
is sitting second to the right of S. S is 
not adjacent to F. E and O is adjacent 
to each other but none of them is 
sitting at the end of the line. Only one 
person is sitting between E and G. G is 
not sitting at any end of the line.
S, L, T, O, E, F, G और H उत्तर दिशाकी
ओर मुखकरके एकसीधी रेखा में बैठे हैं। L, F 
के बायी ींओरचौथे स्थान पर बैठा है। F की
स्स्थदि या िो बायी ींओर सेछठे स्थान पर है या
पींस्िमें िायें से चौथे स्थान पर है। T, S के िाएँ
िूसरे स्थान पर बैठा है। S, F के दनकटस्थनही ीं



S, L, T, O, E, F, G and H are sitting in a 
straight line facing north. L is sitting 
fourth to the left of F. F's position is 
either at sixth position from left or 
fourth position from right in the line. T 
is sitting second to the right of S. S is 
not adjacent to F. E and O is adjacent 
to each other but none of them is 
sitting at the end of the line. Only one 
person is sitting between E and G. G is 
not sitting at any end of the line.
Find the odd one out ?
01. T 
02. O
03. F 
04. L
05. H



S, L, T, O, E, F, G and H are sitting in a 
straight line facing north. L is sitting 
fourth to the left of F. F's position is 
either at sixth position from left or 
fourth position from right in the line. T 
is sitting second to the right of S. S is 
not adjacent to F. E and O is adjacent 
to each other but none of them is 
sitting at the end of the line. Only one 
person is sitting between E and G. G is 
not sitting at any end of the line.
Who is sitting second to the left of G ?
01. H 
02. F
03. O 
04. T
05. E



S, L, T, O, E, F, G and H are sitting in a 
straight line facing north. L is sitting 
fourth to the left of F. F's position is 
either at sixth position from left or 
fourth position from right in the line. T 
is sitting second to the right of S. S is 
not adjacent to F. E and O is adjacent 
to each other but none of them is 
sitting at the end of the line. Only one 
person is sitting between E and G. G is 
not sitting at any end of the line.
Who is sitting exactly left corner of the 
row ?
01. L 
02. T
03. H 
04. S



S, L, T, O, E, F, G and H are sitting in a 
straight line facing north. L is sitting 
fourth to the left of F. F's position is 
either at sixth position from left or 
fourth position from right in the line. T 
is sitting second to the right of S. S is 
not adjacent to F. E and O is adjacent 
to each other but none of them is 
sitting at the end of the line. Only one 
person is sitting between E and G. G is 
not sitting at any end of the line.
Who is sitting third to the right of O ?
01. S 
02. G
03. H 
04. F
05. None of these



S, L, T, O, E, F, G and H are sitting in a 
straight line facing north. L is sitting 
fourth to the left of F. F's position is 
either at sixth position from left or 
fourth position from right in the line. T 
is sitting second to the right of S. S is 
not adjacent to F. E and O is adjacent 
to each other but none of them is 
sitting at the end of the line. Only one 
person is sitting between E and G. G is 
not sitting at any end of the line.
Who sits at right corner of this row ?
01. S 
02. L
03. H 
04. O
05. None of these



Eight students of a school are A, B, C, D, E, 
F, T and R. They study in class VI, VII and 
VIII but not more than three in any class. 
Each of them has a favorite subject from 
Physics, Geography, English, Marketing, 
Mathematics, Chemistry, Biology and 
Economics but not necessarily in the same 
order. D likes Chemistry. B does not study 
in class VII. D study in class VIII only with R. 
E and A study in the same class but not with 
B. C and F study in the same class. Those 
who study in class VI do not like Biology or 
Mathematics. F likes Physics. The one who 
studies in class VIII likes English. A’s 
favorite subject is Marketing and T does not 
like Biology. C does not like Geography.



एकसू्कल केआठछात्र A, B, C, D, E, F, T और R
हैं। वे छठी, सािवी ींऔरआठवी ींकक्षा में पढ़िे हैं लेदकन
दकसीभीकक्षा में िीन सेअदधकनही ीं। उनमें से प्रते्यक
के पासभौदिकी, भूगोल, अींगे्रजी, दवपणन, गदणि, 
रसायन दवज्ञान, जीव दवज्ञानऔरअथथशास्त्रमें से एक
पसींिीिा दवषय है लेदकनजरूरी नही ींदक इसीक्रममें
हो। D को रसायनशास्त्रपसींि है. B सािवी ींकक्षा में
नही ींपढ़िा है। D केवल R के साथआठवी ींकक्षा में
पढ़िा है। E और A एकहीकक्षा में पढ़िे हैं लेदकन B 
के साथ नही ीं। C और F एकहीकक्षा में पढ़िे हैं। जो
लोगछठीकक्षा में पढ़िे हैं उन्हें जीव दवज्ञान या गदणि
पसींि नही ींहै। F कोभौदिकी पसींि है. जोआठवी ींकक्षा
में पढ़िा है उसेअींगे्रजी पसींि है। A का पसींिीिा दवषय
माकेदटींग हैऔर T कोजीवदवज्ञान पसींि नही ींहै। C को
भूगोल पसींि नही ींहै.



D likes Chemistry. B does not study in class 
VII. D study in class VIII only with R. E and A 
study in the same class but not with B. C 
and F study in the same class. Those who 
study in class VI do not like Biology or 
Mathematics. F likes Physics. The one who 
studies in class VIII likes English. A’s 
favorite subject is Marketing and T does not 
like Biology. C does not like Geography.
Which of the following group of student, 
subject and class is not correct?
01. A Marketing VII 
02. D Chemistry VIII
03. T MathematicsVII
04. R PhysicsVIII
05. E BiologyVII



D likes Chemistry. B does not study in class 
VII. D study in class VIII only with R. E and A 
study in the same class but not with B. C 
and F study in the same class. Those who 
study in class VI do not like Biology or 
Mathematics. F likes Physics. The one who 
studies in class VIII likes English. A’s 
favorite subject is Marketing and T does not 
like Biology. C does not like Geography.
Whose favorite subject is Biology?
01. A 
02. D
03. C 
04. F
05. None of these



D likes Chemistry. B does not study in class 
VII. D study in class VIII only with R. E and A 
study in the same class but not with B. C 
and F study in the same class. Those who 
study in class VI do not like Biology or 
Mathematics. F likes Physics. The one who 
studies in class VIII likes English. A’s 
favorite subject is Marketing and T does not 
like Biology. C does not like Geography.
Which of the following group represent the 
students studying in same class?
01. A,B,C 
02. A,R,T
03. B,C,D 
04. F,B,C
05. None of these



D likes Chemistry. B does not study in class 
VII. D study in class VIII only with R. E and A 
study in the same class but not with B. C 
and F study in the same class. Those who 
study in class VI do not like Biology or 
Mathematics. F likes Physics. The one who 
studies in class VIII likes English. A’s 
favorite subject is Marketing and T does not 
like Biology. C does not like Geography.
In which class does T study?
01. VI 
02. VII
03. VIII 
04. Can’t be determined
05. None of these



D likes Chemistry. B does not study in class 
VII. D study in class VIII only with R. E and A 
study in the same class but not with B. C 
and F study in the same class. Those who 
study in class VI do not like Biology or 
Mathematics. F likes Physics. The one who 
studies in class VIII likes English. A’s 
favorite subject is Marketing and T does not 
like Biology. C does not like Geography.
Which subject does C like ?
01. Marketing 
02. Geography
03. Economics 
04. Data inadequate
05. None of these



Eight members B, T , A ,  L  , J , D , C  and R 
are sitting in two rows containing 4 
members in each row first row members 
facing south and second row members 
facing north .
1.) A sits second to the left of B who sits at 
one of the corner.
2.) C is opposite to that person who is 
neighbour of A and C sits at one of the 
corner .
3.) J sits second to the right of R who sits at 
one of the corner .
4.) T is infront of D and facing south .
5.) B is facing north .
आठसिस्य B, T, A, L, J, D, C और R िो पींस्ियो ीं
में बैठे हैं, प्रते्यकपींस्िमें 4सिस्यहैं, पहली पींस्ि के
सिस्यिदक्षणकीओरऔर िूसरी पींस्ि केसिस्य
उत्तरकीओर मुखकरके बैठे हैं।
1.) A, B के बाएीं से िूसरे स्थान पर बैठा है जो दकसी एक
कोने पर बैठा है।
2.) C उसव्यस्िके दवपरीि है जो A का पडोसी हैऔर



Eight members B, T , A ,  L  , J , D , C  and R 
are sitting in two rows containing 4 
members in each row first row members 
facing south and second row members 
facing north .
1.) A sits second to the left of B who sits at 
one of the corner.
2.) C is opposite to that person who is 
neighbour of A and C sits at one of the 
corner .
3.) J sits second to the right of R who sits at 
one of the corner .
4.) T is infront of D and facing south .
5.) B is facing north .
Who is sitting second to the right of D ?
01. A 
02. B
03. C 
04. J
05. None



Eight members B, T , A ,  L  , J , D , C  and R 
are sitting in two rows containing 4 
members in each row first row members 
facing south and second row members 
facing north .
1.) A sits second to the left of B who sits at 
one of the corner.
2.) C is opposite to that person who is 
neighbour of A and C sits at one of the 
corner .
3.) J sits second to the right of R who sits at 
one of the corner .
4.) T is infront of D and facing south .
5.) B is facing north .
Find the odd one out ?
01. C 
02. R
03. L 
04. B
05. T



Eight members B, T , A ,  L  , J , D , C  and R 
are sitting in two rows containing 4 
members in each row first row members 
facing south and second row members 
facing north .
1.) A sits second to the left of B who sits at 
one of the corner.
2.) C is opposite to that person who is 
neighbour of A and C sits at one of the 
corner .
3.) J sits second to the right of R who sits at 
one of the corner .
4.) T is infront of D and facing south .
5.) B is facing north .
Who is sitting opposite to B ?
01. J 
02. A
03. R 
04. T
05. L



Eight members B, T , A ,  L  , J , D , C  and R 
are sitting in two rows containing 4 
members in each row first row members 
facing south and second row members 
facing north .
1.) A sits second to the left of B who sits at 
one of the corner.
2.) C is opposite to that person who is 
neighbour of A and C sits at one of the 
corner .
3.) J sits second to the right of R who sits at 
one of the corner .
4.) T is infront of D and facing south .
5.) B is facing north .
Who is sitting second to the right of T ?
01. T 
02. C
03. L 
04. J
05. B



Eight members B, T , A ,  L  , J , D , C  and R 
are sitting in two rows containing 4 
members in each row first row members 
facing south and second row members 
facing north .
1.) A sits second to the left of B who sits at 
one of the corner.
2.) C is opposite to that person who is 
neighbour of A and C sits at one of the 
corner .
3.) J sits second to the right of R who sits at 
one of the corner .
4.) T is infront of D and facing south .
5.) B is facing north .
Find the odd one out ?
01. C 
02. A
03. J 
04. D
05. T



Read the following information carefully and 
answer the following questions:

B A E D A DE B C A C U A B D U A D B E B A B 
C U D E B C D C

How many such consonants are there in the 
above arrangement each of which is preceded 
by a vowel and as well as followed by a vowel 
?
उपरोिव्यवस्था में ऐसे दकिनेव्यींजन हैं दजनमें से प्रते्यक
के पहले एकस्वरऔरउसके बािभी एकस्वर है?
01. O 
02. 3
03. 4 
04. 5
05. 6



Read the following information carefully and 
answer the following questions:

B A E D A DE B C A C U A B D U A D B E B A B 
C U D E B C D C

Which of the following is fifth to left of 
seventeenth from the left end in the above 
arrangement ?
उपरोिव्यवस्था में बाएीं छोर से सत्रहवें के बाएीं से पाींचवाीं
कौनसा है?
01. A 
02. C
03. B 
04. U
05. None of these



Read the following information carefully and 
answer the following questions:
B A E D A DE B C A C U A B D U A D B E B A B 
C U D E B C D C
The letter of the English alphabets are 
numbered from 26 to 1such that 26 stands for 
A,25 stands for B,and so on .The assigned 
numbers are used to write the letters of the 
original alphabets. What will be the sum total 
of all vowels in the sequence ?
अींगे्रजी वणथमाला केअक्षरो ींको 26 से 1 िकक्रमाींदकि दकया
जािा है, जैसे दक 26 काअथथ A है, 25 काअथथ B है, और
इसी िरह। दनदिथष्ट सींख्याओींका उपयोग मूल वणथमाला के
अक्षरो ींको दलखने के दलए दकयाजािा है। अनुक्रममें सभी
स्वरोींका योगक्या होगा?
01. 78 
02. 84
03. 76 



B A E D A DE B C A C U A B D U A D B E B A B 
C U D E B C D C

The letter of the English alphabets are 
numbered from 26 to 1such that 26 stands for 
A,25 stands for B,and so on .The assigned 
umbers are used to write the letters of the 
original alphabets.
Which of the following sequence denotes the 
code for a valid word ?
अींगे्रजी वणथमाला केअक्षरो ींको 26 से 1 िकक्रमाींदकि दकया
जािा है, जैसे दक 26 काअथथ A है, 25 काअथथ B है, और
इसी िरह। दनदिथष्टअींको ींका उपयोग मूल वणथमाला के
अक्षरो ींको दलखने के दलए दकयाजािा है।
दनम्नदलस्खिमें से कौनसाअनुक्रमएक वैधशब्दके दलए
कोडको िशाथिा है?
01. 6 12 17 23 
02. 5 11 18 22



Read the following information carefully and 
answer the following questions:

B A E D A DE B C A C U A B D U A D B E B A B 
C U D E B C D C

Which of the following letter is eighth from the 
right end in the above arrangement ?
उपरोिव्यवस्था में दनम्नदलस्खिमें से कौनसाअक्षर िायें
छोर सेआठवाीं है?

01. B 
02. D
03. A 
04. U
05. None of these



Read the following information carefully and 
answer the following questions:

B A E D A DE B C A C U A B D U A D B E B A B 
C U D E B C D C

How many B are in the following series which 
is immediately  followed by a vowel?
दनम्नदलस्खिश्रींखला में दकिने B हैं दजनके ठीकबाि एक
स्वर है?
01. 4 
02. 7
03. 2 
04. 3
05. 6



Read the following information carefully and 
answer the following questions:

B A E D A DE B C A C U A B D U A D B E B A B 
C U D E B C D C

How many such pairs are there in the above 
bold letters (forward and back ward direction) 
each of which have as many letter between 
them as in English alphabetical series ?
उपरोिमोटे अक्षरो ीं (आगेऔरपीछेकी दिशा) में ऐसे
दकिनेजोडे हैं दजनके बीच उिने ही अक्षर हैं दजिनेअींगे्रजी
वणथमाला श्रींखला में होिे हैं?
01. 0 
02. 1
03. 2 
04. 3
05. 4



In a queue position of Anshul is 23 from left 
corner and position of Basant is 31 from right 
corner. If Sandeep is 4th to the left of Basant 
and third to the right of Anshul. Find out total 
number of strength of this queue ?
एककिार में अींशुलका स्थान बाएीं कोने से 23वाीं हैऔर
बसींिका स्थान िाएीं कोने से 31वाीं है। यदिसींिीप, बसींि के
बायी ींओर से चौथेऔरअींशुल के िायी ींओर से िीसरे स्थान
पर है। इसकिारकी कुलसींख्याज्ञािकीदजए?
01. 61 
02. 59
03. 60 
04. 62
05. Can't be determined



Six members T, R, J, M, P and Q have given an 
exam and they all have got different different
marks. T has got more marks than P. R has got 
more marks than M and T. J has got less marks 
than M but more than T. R has not got the 
highest marks. The person who has got 
highest marks is 8 and lowest marks is 1.
छहसिस्योीं T, R, J, M, P और Q ने एकपरीक्षा िी है
औरउनसभीकोअलग-अलगअींक दमले हैं। T को P से
अदधकअींक दमले हैं। R को M और T से अदधकअींक दमले
हैं। J को M सेकम लेदकन T से अदधकअींक दमले हैं। R 
कोउच्चिमअींकनही ींदमले हैं। दजसव्यस्िकोसबसे
अदधकअींक दमले हैं वह 8 हैऔरसबसेकमअींक 1है।
Who has got the lowest marks ?
01. P 
02. T
03. J 
04. M






